| Efficiency vs Dxy |

0.1

P r
X C
© u
0 0.09 i
> C
30,08+ rbod
Q C
B O.07Fbeeeried

eff

0.06
0.05
0.04
0.03
0.02
0.0

...................................................

...................................................

.....................

Ratio

0.8

0.6

o

| Efficiency vs Dz |

_2BT20-15-10 =50 5 10 15 20 25

TP dxy (cm)

—=— DQM_TT__mkFit-DQM_original-0
—e— DQM_TT__mkFit-DQM_mod-127

N 0.4

©

£ 0.09F

ax r

S 0.08F

(&)

£ 0.07

()
0.06
0.05
0.04
0.03
0.02

0.0

....................

—— DQM_TT__mkFit-DQM_mod_updatedmod-127

............................................

o 0=
T 1.05F - o
04 g :
Ao SRR !
0.95[F++-+-- S
=20

2030
TP dz (cm)

10




	Contents
	Page 1


